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1) Write Z(_)_§_1}3§ in words

%E’_U&'\ m\\\kb\(\% . Qiodm% Oo0e ‘\\)V\O\LS(LHA QV\Q\
o \(\ux\c\m_c)\ AA‘\“(\J&\ e T

a) Use the above number to:

i) Write it in expanded form:

?/\Oool OBl FO 000 + /I,OOD + 200 430 -

ii)  The value of the digit8is__ X0 00O

iii)  The place value of the digit 0 is _ \unad ve) oSG

2) Complete the following statements:

a) 2519 rounded to the nearest hundredis LS oo

b) 9954 rounded to the nearest thousand is \O} QD O

c) 9088 is 100 more than QUL R

d) SUg  is100 less than 5555 a,QLW tj()u u),r'.l( j;\z,"c‘w
C/)\&Z(.K(_tfc"‘lf&{‘l "D "C ot
e)3035is_| oo morethan2935 ;. i A [CWS - muke

o SENL{:‘\
f)Halve of _\2 Q & is 698

g) 700,000 + 300 + 4,000 + 8 = e L[J\ 3038

700,000

300
+ 4,006

B
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h) 12hundred + 71 thousand + 5 tens + ¢ ones=| 72 AS6
i) Double 368 is +3
= j) 1351+ | 2649 = 4000
\,o?&“'\ A\ Hooo - 1351
<kl;&9 6 3] -3655=1608 )7139 - P15 % |= 4681
2 B6S< 4 \6O%
m) 32006 +| 205 | =16¢0 . n) | So | x 400=20000
y Cass ol Zem= >, @: >
ADrpr\a\é/&ss’ZU‘o 9024 = &5
D2t s \B [37-‘-.?"—\5) Han deP o
0) 36800 +~{p O |=368 0) [BS5]x 10 = 8560

3) Use< or > or=to make the following statements true.

a) 300x70 _2% 90x 50
21000 EANs's

b) 20x20_= 40x10
Yoo Yoo

c) /0 _< 50x10
SD Séeo

d)20 x 7 > 500+ 100
40 5

e) 54,404 _< 54,440

f) 279,544 > 279,445
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Ab)

. & ’
g -9_S 2 h) -18 — 6 t
_________._.——’-"_'_'__“\
FAH
i) 5§23 > 6 )72 _=Z 14 &
q 49 2
4) Order the following numbers starting with the greatest *

using the correct sign.

a) 510 784 510 584
S102¥4 > _SloeYs y SI05%Y > S10,S5W0E

M*

510 548 510 648

-8 --1 3 - 11
= 5 s S - ¥ > - |\

5) Find:

a) The sum of 239, and 8952 b) The difference between
6552 and 587

B e e =

Y 239 i %%3
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d)A square and odd number between 1 and 30 __Q_)\

e) The 6'" multiple of 6 is 5 é -

B

f) Guess my number
4 9

- I am a three digits number

- Hundred digit is even and less than 6 and more than 3.
- Tens digit is odd and more than 7.

- My number is divisible by 6

3
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- when rounded to the nearest 10 answer is 500
&
F 3
Zx
F
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&
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#
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F

My number is 49§ \°. <o

7) Find my number.

a) Dan says : “I’'m thinking of a square and odd number more
than 60 and less than 90.” What is his number? % \

e

b) Fred says: “I’'m thinking of a square and even number more
than 50 and less than go.” What is his number? _4& Y

»

6
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c) Which two Square NUmbers toty) to 85?

d) The difference between two Prime numbers is 8.

What are MYy Nnumbers | 3 and 5 .OB Nand 3

OR 19 and w.
e) The highest multiple of 8 that fs |ess than 8o ‘70?

8) Find the missing digits.

a) 5331 b) 5 78 4
"3 | +54oq
o [1]o 2 7., g
5 R d 8 2 8 4
5 O 5 2| 8716
SRR 5 4 0 8

. . 2 4 8 2 2 4444445545 3
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temperature of -10° C at night, byt

9) A city in England had a
warmer. What was the temperature

during the day it was 3°

during the day?
(ﬂ__

Aﬁl@?: %
sin. (=3 O
—"

10) List:
\e (Pr'.rvta x_\;\s \S" (2) 3)81_4)\\)'\‘5) & ‘\)\Jﬂ\

————

‘Y UJ(“l
v a) The factors of 21 Aweote— ) The factors of 24
< 0 (1,33 Ni ‘
{Qf 6‘7 (1,3,%,21) NI (1,2,3,4,6,8)2,)
L f) The prime factors of 21 d)'The prime factors of 24
Ae 3 ¥ 9 A

11)  Circle the numbers that are divisible bcy))_b)oth 2and 9

6774 2225

(E§ a
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(Left to right )
| Divide

( Left to right)

Add

BIDMAS

Powers (Indices)

l\
~

Multiply

Subtract

@

Order of
Operation Rules
are the rules that
tells us which
math operation
comes firstin a
mathematical
expression.

BIDMAS

11) Use Order of operation rule to solve the followmg go\‘{c’ S\QPS

wndecneddn eada

a) 20 - 4X2

Y
3 =12

QA0 —

‘be&d\n E’\"Q‘P s a L, VTP, OkUﬁa\nb\s
S

F=3 4 ol =

c) (4+4\/9) 5“
| '-\{/6 =

BYo) i

e)45 - 3\/4 i

Lisi:/jia i

3 3E+

o

—
—-—

_lj
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b)7-3+

d) (X

(ga;) T0

Vo

-3)+ 6=

L0 < 6|0

f)1oo+w0X4=

) 00 + 2\&‘ E

(@b <+ '§ =

|08
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13)  Complete the following table

Py
Number u-)['r THhE s * i
546
“(12) | pivisible by: 6, . . &
btla\::ause: e 2eN CH\C\ &U“‘\—D&— é“@\g * ‘
e a vaulMaple ol 2 i 4
512 | FY j
Divisible by 4, | | R\
et | o digkow o sy | £
L | 4
O \ L3\ *
10800
D Divisible by 3 and 5 , - 1\
Because:_ S\ (‘[‘1 Al(g\\r ) r‘(\u\\\n.;B\o ‘_\;‘\ 2
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-Then he fo = ew 7 back because they
i) How many sea Shellsd'\un&’@m the afternoon.

id he find in total?
33-3 = 9¢
o +54 = g o Shellk

\©

ii) Tariq put the shells in 16 boxes so he can sell them for $37 for each box .
How much will he make from selling the boxes?

(Roundéour number to the nearest $10)

\
K \3%’_ 5 =g e N qoo¥e—
y \ d @*“\”Q& 590
o/ 8.9 <

&
&
&
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B) Sammr backyard. This year the tree grew 432 Cherries. *
&
&
£
£
Z

Birds had eaten 89 of them, 76 of them had been ruined by bugs. She picked
ir

the rest. W2 x
. . . k? \(_, i <
i) How many cherries did Sally pic o @ &
8

@ e e
G +76 =65 ] 1 :
gﬂjéﬂ < ruiﬂéﬁ/' _}43/9

65 , ‘
Q4 cheries she pi

i\ She put the cherries into boxes each box weights 13Kg and each box costs ’;
||)ﬁpshe filled up 7 boxes. What is the total @. the 7 boxes. ‘

a
e,
%&g‘;@%" 12 x7 C?/K;(

D
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P ountries in the world cup, between England and Canada

:\Q_( SeL §<

iii) How much did the make from selling both jerseys?

245923
+ 26580 bl B
¥5Aas503 from Saﬁﬂ(jtjmef'

iv) From selling which jersey they collected more money? And by how much?
ZaﬂL{ N E1- < %

Eng J yﬁ‘{ S 6IS 10

. 22923

+ 13657

JY0N¢ +/wj /ﬂac{;’ 7/7‘5"'

S’é//ég Evdr/anc/ jersey <

12

e TR I e e e e o
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L T W,

*W\D)\There ar@c -
-*. A[—_Z756/2\attended the football match. They sold 3658 football jerseys for Englang *
* A (‘eggfyersey costs 103, and they sold 2547 football jerseys for Canada each
4_ jersey costs S_)§_ -
‘*_ i) How much money did they make from selling thet,Engla‘r_lq,}ootball jerseys?
4— 365% X110 ¥ 65380 -pg.;s noYe 8th
2’ t‘;t’.\\‘\\ua ‘he(’f- 2 4 2,
* i) ) How much money did they(rr]ake from selling the tgngg:lirar]]football
jerseys? QW6
X Q , e L\ .
E Y ¢ 6—(\;‘(\:\ AW
X 1346 23 %3«\93‘ el .
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c) The product of 39 and 96

{ d) The product of 4089 ana 7 i
| x 2 W&iaq i
A6 " & i

032 2 Y s T3
BE 1Té6 LR .
B i

a) The greatest four-digit odd number more than six thousand
and less than seven thousand, it’s equal to 6700 when
rounded to the neazgst 100.

b)A three - digit number and a multiple of 3 and 4 and 5 less *
than 700 and more than 100. 9‘7‘)) 204,200, 360, G00,{2C

SO &) S0, 63D

A

57 oo oR J00
. oi%é‘vy;m ok o and divishle by(3 i
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You may use the card more *—
| 6) Use the following cards to make: han onee: 4.
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